Mathematics 11

3.8 — Linear Quadratic Systems

Mr. D. Hagen



Systems of Linear Equations:

Recall in Grade 10, we looked at how to solve for the
point of intersection between two lines. We looked at
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three ways to solve. The
method | want to talk
about Is substitution, as
we will use this method
to solve for when a line
and a parabola intersect.

Let’'s have a quick
refresher on this method!



Find the Point of Intersection between the lines:
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How do lines interact with parabolas?

Ui

Ha L Y
F\,omaz/“( \\\ ‘

2 points of
intersection

1 point of
intersection

No points of
intersection

When working with Quadratic Linear Systems, there are two
types of questions we can ask:

1. How many points of intersections are there?

2. What are the points of intersection? (solve for...)

Let’s do two examples of each.



Example 1 f% =-2X+8 W) =4x° +12x -7

How many points of intersection? fC(X) = 30‘) of He POI
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Example 2 f(X)=3x+4 g(X)=-2x"+5x-3

How many points of intersection?
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Example 3 F(X)=2x+6  g(X)=X*+4x+3

Find the point(s) of intersection.
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Example 3 f(X)=2Xx—-6 g(X) =4x°+18x+10

Find the pomt(s) of intersection.
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